KANGOUROU MATHEMATICS COMPETITION 2021: LEVEL 3-4 / ENIMEAO 3-4 ([’-A” AHMOTIKOY)

1. Erik has 4 bricks:
O Eppikog €xeL 4 ToUPAQ:

eI 7T

Which of the cubes shown below can he make with his 4 bricks?
Molog arod toug KUPBouc mou dalvetal mapakdtw propei va dtiaytei pe ta 4 tovBAA TOU;

v A
L~ L~
(A) (B) (C) ~ (D) d (E)

2. How many fish will have their heads pointing towards the ring when we straighten the wire?
Noéoa Papla Ba €xouv To KEGAAL TOUG OTPAUUEVO TIPOG TO SAXTUALSL OTAV LOLWCOULE TO CUPLQ;

(A)3 ®)5 (€6 (D)7 (E)8

3. When you put the 4 puzzle pieces together correctly they form a rectangle with a mathematics calculation
on it. What is the result of this calculation?

Otav tonoBetroste cwotd pali ta 4 kKoppdtia Tou malA, oxnuoatilouv éva opBoywvio He Evav LabnpaTiko
UTtOAOYLOUO TIAVW Tou. Molo gival To omoTEAECHA AUTOU TOU UTIOAOYLOUOU;

32|11 pa+p

(A) 6 (B) 15 (C) 18 (D) 24 (E) 33
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4. Alaya draws a picture of the sun.
H Avtpla oxedLalel pLa eLkOvVa TOU HALOU.

WM

~ =
= [~
AR

Which of the following answers is part of her picture?
Mola amo TI¢ MAPAKATW OTTAVTNOELG Elval LEPOG TNC ELKOVAC TNG TTou oxedlaos;

(A) (B) \hﬂ/ Q) M (D) W (E) W

5. Five boys competed in a shooting challenge. Ricky scored the most points. Which target was Ricky's?
Mévte ayopla cUPUETELXaV o€ £va Staywviopd okomoBoAnc. O Pong onueiwoe Toug mepLoGOTEPOUC TOVTOUG.
Molog oto)oG fTav Tou Pon;

(A) (C)

(E)

6. A measuring tape is wrapped around a cylinder. Which number should be at the place shown by the
question mark ?

Mua tawvio pétpnong tuliyetal yupw amd évav kUAvEpo. Molog aplbudg mpénel va Bpioketol otnv Béon
Tlou SelXVEL TO EPWTNUATIKO ?

(A) 33 (B) 42 (C) 48 (D) 53 (E) 69
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7. Denise fired a silver and a gold rocket at the same time. The rockets exploded into 20 stars in total.

The gold rocket exploded into 6 more stars than the silver one. How many stars did the gold rocket explode
into?

H Ntévn ektofeuoe Tautoxpova Evav acnpEVio Kat évav xpuad mupaulo. Ot mupavlol e€eppaynoav oe 20
aoTEPLA OUVOALKA. O Xpuoog MUPAUAOG e€eppAyn OE 6 TEPLOCOTEPA ACTEPLA OO TOV OLONUEVLO TIUPAUAO. Z€
ndéoa aotépla e€gppayn o xpuodg mUPaAVAOC;

(A) 9 (B) 10 (C) 12 (D) 13 (E) 15
8. Rosana has some balls of 3 different colours. Balls of the same colour have the same weight.
What is the weight of each red ball?

H Pola éxel HepLKEG UMAAEG Ue 3 StadopeTikd xpwpata. Ot UNAAEG Tou (8Lou XpwHoTog £xouv To 1610 Bapoc.
Moto elvat To BAPOG KABE KOKKLVNG UTTAAQG;

@0 000 000

(A) 3 kg (B) 4 kg (C) 5ke (D) 6 kg (E) 7 kg

|

9. Nisa has 3 different sorts of cards in a game:
H NkOA €xel 3 StadopeTika 16N KapTwV o€ €va TaLyvidL:

2ol® , ,
apple/unio l=_J, cherry/kepdot l« and grapes/kat otodUALo =~ ],

She chooses 2 cards from the set and swaps their places. She wants to arrange all the cards with the same fruit
on next to each other. For which set is this not possible?

ETuAéyeL 2 KAPTEC Ao TO OET KAl AVTOAAACOEL TIC BE0ELG TOUC. OEAEL VOL TOKTOTIOLOEL OAEC TLG KAPTEG UE TO (6lo
¢dpouTo TN pia SimAa otnv GAAnN. Mo oo cUVOAO KapTtwv auto dev eivat Suvarto;
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10. Sofie wants to pick five different shapes from the boxes. She can only pick one shape from each box.

Which shape must she pick from box 4?

H Zodia BéAeL va Slaléel évte SladopeTikd oxnpata armd Ta KouTtid. Mmopel va emiAéEeL pdvo Eva oy amno
KABe kouti. Moo oxNpa rpémnet va StoAé€sL amo to Kouti 4;

oll£8 ] s8]

box 1 box 2 box 4 box 5

(A) ’k (B) . (C) ' (D) A (E) ‘

11. 18 cubes are coloured white or grey or black and are arranged as shown.

The figures below show the white and the black parts.

18 kUBoL £xouv xpwpa Aeukd 1 ykpilo 1 palpo Kat ivat Slatetayuévol onwe GaiveTol TapaKaTw.
Ta mopakdtw oxiuata Seixyvouv 1o AEUKO KaL TO LaUpo UEPOC.

Which of the following is the grey part?
Molo amod Ta mMapaKATW €ival to Ykpilo HEPOG;

(D)
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12. The 5 balls shown begin to move simultaneously in the directions indicated by their arrows.
OL 5 pntdeg mou gpdavifovral apyilouv va KvoUvTal TAUTOXpova OTLG KAateuBuvaoelg mou Seixvouv ta BEAN Touc.

B

When two balls going in opposite directions collide, the bigger ball swallows the smaller one and

increases its value by the value of the smaller ball, as shown in the example below.

‘Otav cuykpouovtal U0 PnaAeg tou £xouv avtifetn katevBOuvaon, N HeyaAUTePN UITAAQ KOTATIVEL TNV ULKPOTEPN
KoL au€avel tnv agla tng, pe v afla Tng LKpOTEPNG UIAAAS, OTIWE GALVETAL OTO TTAPAKATW MOPASELYLA.

Example

Oe~®

What is the final result of the collisions of the balls in the tube?
Moo eival To TEAKO QAMOTEAECHA TWV CUYKPOUGEWVY TWV UMOAWY 0TO CWANVO;

48
(A) (B) (Q) (D) (E)

13. In an ice cream shop there is some money in a drawer. After selling 6 ice creams, there are 70 euros in the
drawer. After selling a total of 16 ice creams, there are 120 euros in the drawer. How many euros were there in
the drawer at the start?

Ye plo maywtapio UTAPXOULV KATIOLX XPHHOTA OTO CUPTAPL. META TNV MWANGCN 6 MAYWTWY, 0TO CUPTAPL
umapyouv 70 supw. Adol mMwANBnKav cuvolikd 16 maywtd, untdpxouv 120 eupw oto cuptdptl. Nooca eupw
UTINPXOV OTO CUPTAPL OTNV apXN;

(A) 20 (B) 30 (C) 40 (D) 50 (E) 60

14. The Koala ate some leaves from 3 branches. Each branch had 20 leaves. The Koala ate a few leaves from the
first branch and then ate as many leaves from the second branch as were left on the first branch. Then it ate 2
leaves from the third branch. How many leaves were left on the 3 branches in total?

‘Eva KodAa £daye peptka GpUAa amd 3 kKAadia. Kabe kAabi eixe 20 pUANa. To KodAa £daye peptkd GpUANA amod
TO MPWTOo KAaSL KoL TN cuvéxela Epaye amod to Seutepo kKAadi toca UM doa EUelvay oTo TPWTOo KAASL. ITn
ouvexela £daye 2 UM amo to tpito kKAadi. Mooa UAAA amopévouv ota 3 KAaSLA GUVOALKA;

(A) 20 (B) 22 (C) 28 (D) 32 (E) 38
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15. On a tall building there are four fire escape ladders, as shown. The heights of 3 ladders are at their tops.
What is the height of the shortest ladder?

Ye éva PnAo ktiplo umapyouv téooeplg okaleg Staduync, onwc dpaivetat. Ta LN TWV 3 OKAAWV €lval OTLg
KOpUGEC TouG. Moto eival To UPOC TNG TTLO KOVTHG OKAAQC;

!

(A) 12 (B) 14 (C) 16 (D) 20 (E) 22

16. Nora plays with 3 cups on the kitchen table, as shown. She takes the left-hand one, flips it over, and puts it
to the right of the other cups. What do the cups look like after she does this 10 times?

H Nopa nailet pe 3 pAtlavia oto Tpanéll tng koulivag, onwc paivetal.

Maipvel to aplotepd, to avarodoyupilel kot to Balel ota Se€Ld Twv AAAwY TotnpLwy. MNwc potdlouv ta
notnpLa adou to kavel autd 10 dopég;
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17. Eva has the 5 stickers shown:
H EVa €xeL Ta 5 MO KATW QUTOKOAANTA:

A®XR®

She stuck one of them on each of the 5 squares of this board:
KOAANoe éva amnod autd os Kabe £va amo Ta 5 TETpAywva AuToU ToU TtivaKa:

1 2 (31415

so that / étoL wote

* is not on square 5, / 6gv Bploketal oTo TETPAYWVO 5,

‘ is on square 1, and / sivat oto tetpaywvo 1, Kat

* is adjacent to / eival Simha amo ta . and / kau A

On which square did Eva stick the flower?
Z€ TIOLO TETPAYWVO KOAANoEe To AouAoudL n Eva;

(A) 1 (B) 2 (€) 3 (D) 4 (E) 5

18. Seven cards are arranged as shown. Each card has two numbers on with one of them written upside down.
The teacher wants to rearrange the cards so that the sum of the numbers in the top row is the same as the
sum of the numbers in the bottom row. She can do this by turning one of the cards upside down.

Entd kapteg TonoBetouvtal Onwe daivetal. Kabe kapta £xel SU0 aplOUOUC He €vav amo auToug YPALUEVO
avamnoda. H SaokaAa BEAEL va avadLaTAEEL TIG KAPTEC £TOL WOTE TO AOPOLoUA TWV APLBUWY OTNV EMAVW OELPA
va elval To (610 pe To abBpolopa Twv aplBpwy otV KATWw oelpd. Mmopel va To KAveL auTto yupilovrag pia anod
TIG KAPTEG avamoda.

Which card must she turn?
Mola KAPTa TPETEL VAL YUPLOEL,

(A) A (B)C (€D (D) F (E)G
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19. The numbers 1 to 9 are placed in the squares shown with one number in each square.

The sums of two neighbouring numbers are shown. Which number is placed in the shaded square ?

Ot aplBuot 1 €wg 9 tomoBetouvTaL OTA TETPAYWVA TTou epdavilovral pe évav aplOpod os kaBe teTpdywvo. Ta
oBpoiopata dUo yettovikwy aplOpwy spdavifovral o Katw. Nolog aplBpdc Tonobeteital 0TO OKLACUEVO
TETPAYWVO WE TO cUUPOAO ?

sum?7 sum9 suml1ll sum?9
A A A A

r hYd h Yl hYd N

-~J

L AN AW AN J

A A A Y
sum 15 sum 3 suml1l5 sum8

(A) 4 (B)5 (C) 6 (D)7 (E) 8

20. Maria throws darts at balloons worth 3,9, 13, 14 and 18 points. She scores 30 points in total. Which
balloon does Maria definitely hit ?
H Mapla pixvel Beddkia o pmalovia alag 3, 9, 13, 14 kat 18 movtwv. Exel ouvoAika 30 movroug. Molo
UTITaAOVL XTUTIA olyoupa n Mapia ;

@ @
13 14 18

(A) 3 (B) 9 (C) 13 (D) 14 (E) 18

21. A box has fewer than 50 cookies in. The cookies can be divided evenly between 2, 3, or 4 children.
However, they cannot be divided evenly between 7 children because 6 more cookies would be needed.
How many cookies are there in the box?

‘Eva koutl £xeL Atyotepa amod 50 pmiokota HEoa. Ta UMoKOTa UmopolV Vo XwpLoTtouy oa petall 2,31 4
nadLwv. Qotooo, Sev umopoulv va katavepunBoulv ioa os 7 madid, emeldr) Oa xpelacTolV 6 akoun
UTLoKOTA.

MNoca UMLOKOTA UTIAPXOUV OTO KOUTL ;

(A)12 (B) 24 (C) 30 (D) 36 (E) 48
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22. Each of the five boxes contains either apples or bananas, but not both. The total weight of all the bananas is
three times the weight of all the apples. Which boxes contain apples?

KaBe €va amo ta mio KATw MEVTE KOUTLA TEPLEXEL UNAA N UITAvAVEC, aAAG OXL Kal Ta V0. To cUVOALKO BApog
OAWV TWV pImavovwy givot Tputhdcto tou Bapoug dAwY Twv PRAwV. Mola KOUTLA epLéXouv HAAa;

7kg Skg 6 kg 2kg 16 kg
) @ © @ ®

(A)1&2 (B)2&3 (C)2&4 (D)3 &4 (E)1&4

23. Elena wants to write the numbers from 1 to 9 in the squares shown. The arrows always point from a
smaller number to a larger one. She has already written 5 and 7. Which number should she write in the box
with ?

H EAeva BéAeL va ypadel Toug aplBouc amo to 1 €wg to 9 ota teTpdywva ou epdavilovral. Ta BEAn
Selyvouv mavra amno pkpOTtepo aplBud os peyalutepo. ExeL nén ypaeL to 5 kot to 7.
Motov aplBuod mpémnel va ypdel avti oto Kouti e To cUpBoAo ? ;

(A) 2 (B) 3 (C) 4 (D) 6 (E) 8

24. Three different types of objects, hexagons, squares and triangles, are placed on sets of scales.

What do you need to put on the left-hand side on the third set of scales for these scales to balance?
Tpelg StapopeTiKol TUTIOL AVTIKELUEVWY, EEAYWVA, TETPAYWVA Kal Tpiywva, TomoBetouvtal og JuyapLég. Tu
TPEMEL va BAAETE OTNV apLOTEPN MAEUPA TNG TPITNG JUYOPLAG VLA VO LOOPPOTINOEL;

OO
iy : ¥

A

(A) 1 square (B) 2 squares (C) 1 hexagon (D) 1 triangle (E) 2 triangles
(A) 1 tetpaywvo (B) 2 teTpaywva (C) 1 e€aywvo (D) 1 tpiywvo (E) 2 tpiywva



